(

If x =1,y =1 then 9—%’:

02010 (03,06,09,13,15,17,19,27,31,33835)

4. HaryanaLegislative Assemblyhas ___

seats. _
(A) 70 (B) 80
(C) 60 (D) 90

9. Choose the word which is least like the

other words in the group.
(B)' November
(D) July

(A) January
(C) May

3. Haryana Government mandates

qualification to contestants to Local Body

Elections.

(A) Primary
(B) Educational
(C) Legal

(D) Postgraduate

4. An ac current is represented as
42.42 sin628wt. RMS value of current
and frequency are respectively
(A) 141.2 A, 314 Hz

(B) 30A, 100 Hz
(C) 200 A, 200 Hz
(D) 10 A, 50 Hz

5. Which of the superior breed of buffalo of

Haryana is popular throughout the country ?
(A) Murrah

(C) Saiwa

(B) Hareena

(D) Sawala
2

dx

w % ® 2%
o) Y ©) %ot

————

l!llﬂlllllﬂlﬂ!lIHIMIIIIIIIIIIHIHHIIIINHIMIllllmllllIIIIIIIII

. gamfEmand__ WEE
(A) 70 (B) 80
(C) 60 (D) 90

. wﬁ%mgﬁﬁmﬂmm%l
(A) S (B) R
) (D) FE

. mmawm:ﬁa’i%

mﬁﬁ#m___maqﬁmﬁsﬁ%i

. UF ac fgd 42.42 sin6280t % ¥ 3 Tt

et & | e ik e RMS W SR B
(A) 1412 A, 314 Hz

(B) 30A, 100 Hz
(C) 200 A, 200 Hz
(D) 10A,50Hz

. ehETon Y St L - e T IR H
AR ?
(A) HUE B) &
(C) @ (D) W
qﬁ 2 3 % ;.h d2y
. X=t ,y=t ’ ax—a.—.
» 7 ® %,
cr Y © %
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7. Figure shows an armature rotating in
two-pole machine. Consider a small piece
ab of the armature. When the piece ab is
under N-pole, the magnetic lines pass from
a to b, Half 8 revolution-later, the same
piece of iron is under S-pole and magnletic

s from b to @ SO that magnetism

in the iron is reversed. In order to reyerse

continuously the molecular magnets in the
armature core, some amount of power has

to be spent which is called

lines pas

(A) Eddy current loss
B) Mechanical l0ss
(C) Votage \oss

(D) Hysteresis loss

8. 3 similar impedances are connected
in delta across a 3 phase supply. The
two wattmeters connected to measure
the input power indicate 12 kW and 7 kW.
Power factor of the load is

(A) 0.9899 (B) 0.9393

(C) 0.9099 (D) 0'9999

9. The State of Haryana lies.about 300 miles
north of

(A) Straight line
(B) Greenwichline
(C) Tropic of cancer
(D) Equator

10. Jyotisar is the old name for
(A) Ramanujacharya
(B) Madvacharya
(C) Vallabhacharya

(D) Kurukshetra

10/2019 (03,06,09,13,15,17,19,27,31 133&35)

10.

7 g1 ab N- 1 % 3 T }, T
%@Tﬁaﬁbﬁaﬂtmﬁ%mﬁwaﬁﬁ,
T8 AR gFY SYTF sparte e & 3
ga?n"m’tarrib@f a ) 3 S & o 9@
vﬁmmﬁﬁ%ﬁg’aﬁamﬁw%u
SR 1S A anifoaes e &1 A 36
m@%ﬁmﬁ,@ﬁmmm%@

FEATd &

w3 e AT Seer ® 3 GO YT e
¥ | o T A T @ TR
12 KW 37 KW SRR & | TR T

(A) 0.9899
(C) 0.9099

(B) 0.9393
(D) 0.9999

T @300 fi@IWAR |
(A) Heht @

() e L

(C) Feh @l

(D) A W@l

R EEEAMR

(A)

(B), WeATIR
(C) TeAw=TE

(D) Fwe
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",

12.

13.

14.

18.

16.

If matrix A=[8&, 15,

where a“ = 1if I#],
= 0ifi=]
then A3 =
(A) | (B) -A
(C) A (D) 0

In a microprocessor, outputs of arithmetic,
logical or |0 operations are generally store
in

(A) General register

(B) Accumulator

(C) Flag register

(D) Program counter

A very high magnetic field is applied to

a stationary charge. Then the charge
experiences

(A) A force in the direction of magnetic field
(B) No force

(C) A force perpendicular to the magnetic
field

(D) A force in an arbitrary direction

Noise arising in JFETs, BJTs and other
complex IC amplifiers is generally described
by

(A) Single source input model

(B) Two source output model

(C) Single source output model

(D) Two source input model

In Haryana which of the place is called as
the hub of call centers ?

(A) Panchkula (B) Gurugram

(C) Bhiwani (D) Panipat

What is the high speed memory between
the main memory and the CPU called ?

(A) Register Memory
(B) Virtual Memory
(C) Cache Memory
(D) Storage Memory

00000000 0 0 O O O
1. IATE A=(g,],,

12.

13.

14.

15.

16.

Gﬁfﬂ” = 1“&”],

= 09k i=j
WA=
(A) | (B) -A
(C) A (D) O

& AEEmeE |, i, arfhe a1 10
TiaTeH #l SEE gAE: eI
BaTe |

(A) T TR

(B) Torcreft g 73

(C) T e

(D) SWITH FER

& Wt TET T T AT 359 g
TS M@ A
R P

(AY e & <At fown # o

(B) 3 ot T

(C) Fodhiw & ¥ worad T o

(D) Tl fosm & v 5

JFET, BJT 3R 31 Sifed IC watien 3§ 3=
WHAEARE: g S SR |
(A) THa Qi AT Hisd

(B). T3 &a = wied

(C) Thdl W ST Hisd

(D) T& & o7 wiew

giamon & for Tu™ ) et Yt i g TR

ST ?
(B) o™

(A) T
() frarh (D) W

7w ok wify % o 3= i AER
FEAT § |

(A) o A

(B) T T

(C), 9 AurY

(D) R AU
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17. TheoutputY of a 2-bit comparator is logic 1
whenever the 2-bitinput A is greater than the
2-bit input B. The number of combinations
for which the output is logic 1 is

(A) 4 (B) 10
C) 6 (D) 8
18. The left as well as the right side of the
paragraph will be aligned except for the last
line is called
(A) Left Alignment
(B) Justify
(C) Right Alignment
(D) Center Alignment

19. InHaryana the district which is the highest peak
of the state is
(A) Ambala (B) Panchkula
(C) Kurukshetra (D) Hisar

20. Which of the following Indo-Tibet main trade
routes are passes through Chumbi valley ?
(A) Jelep La and Nathu La Pass
(B) Bhor Ghat and Chorla Ghat Pass
(C) Goram Ghat and Haldi Ghat Pass
(D) None of the above

21. Abag contains 8 white and 6 red balls. Find
the probability of drawing two balls of the

same colour.
(A) 15/91 (B) 43/91
(C) 28/91 (D) 51/01
22. The Haryana State IDC has already
developed a Textile Park at
(A) Panipat (B). Bhiwani
(C) Barhi (D) Saha

23. Who s the Constitutional Head of Executive
of the Unlon of Indla.?
(A) Prime Minister
(B) President
(C) Speaker
(D) None of the above

24. In measuring Instruments, under equilibrium
condition, controlling torque (T,) and

deflecting torque (T,) are
(A) T,=T, B) T,<T,
C) T»>T, (D) None of these

10/2019 (03,08,09,13,15,17,19,27,31,33&35)

17. v& ofi 2-fae amra= A, 2 o s B atftrs
B 2 N 2 e g =t saw v, @i 1
AT e | A o1 a8 & e fore siraes
GUEERES
(A) 4 (By 10
(C) 6 (D) 8

18. Faw AfqH UfHR ) B Il FI ™I

(Br EIR"FFI'Q/
(C) TTSe TRATETHE
(Dy TR TATETHE

19. femm F SH-a1 el # ST fRret R 7
(A) el (B T
(C) Fw& (D) Teum

20. frafefaa § @ SE-ar R -fissa =R
it et T B U T @ 7

(A) St o 3R e A &b
(BY I =Te. 37T =Tett T1e &1
(C) T EE 3 T ure T
(D) 3 U T =wIE AL

?42‘%'.’ T O # 8 T 3 6 A TS B TH B W

1 31 112 Freprem s snferar Ima hifs)
(A) 15/91 (B) 43/91
(Cy 28/91 (D) 51/91

22, S 3 v & wfEmn # fRm e
TFITES ek farentee R ® 7
(Ay Trfiaa B) foarh
(C) =& (D) e

23, HR YRE ¥ H waTNE HEEk v § 1
(Ay e
(B)- T
(C) =t
(D) v # & g

24, TR IO o, Hge Rty #, foramron el
o (T,) ol fagaon s o () §
(AY T,=T, (B) T<T,
C) T>T, (D) it & wr ot

U
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25. In MS Word Document short cut key for | 25, MS a2 swae & U1 31 & forq ergArt
page break is el @
(A) Ctrl+b (B) Ctrl + shift (A) Ctrl+b (B) Ctrl + shift
(Cy Ctrl+p (D) Ctrl + enter (C) Ctrl +p (Dy Ctrl + enter
a0 o0 a0 o0
26. fA=|0 b 0 | whereas0,b# 0, 26. IR A=|0 b 0 | & am0,b0,
0 0-c 0 0-c
c# 0,then A' = o Ot, A =
-a 0 0 -a 0.0
(A) | 0-b 0 (A) | 0-b 0
0 0 o 0 0 ¢
1o of . .
X o 0
(B) abc| o _;_ 0 a
]
00_1J (B) ach-E 0
C
1 0 0 -
a 0 0 g ] o
© [0 1 o 5 2 0
4
I © [0 & -0
4 1
~ : 0 0 -
a o0 o0 L C
(D) [ 0 b OJ ' 5
9 Oilq D [0 b 0
0 0 —c
27. If A and B are'two matrices of order ‘
3xmand3xnrespectivelyai"idm:n, = ?Am%aaﬂ_{ t8x m 33 x nFR
then the order of the matrix 5A - 2B is ﬁma"i%% m=ng, d 3TgE 5A - 28
(A) mx3 (B) 3xn Al TS i
3xn
3x3 D) mxn
28 fy is emitted h( ) loctron] & 3Wx3 @(D)ﬁmx”

. is emitted when an electronjumps | 28, wgu < ;
from one energy state to another energy 2 T Il aﬁ?;@ﬂﬂw
state. Y . — g |
(A) Proton (B) Positron A !“E.U' ' (B) wifwelq

(D) Photon (C) =M (D) BRN

(Cf Neutron
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29.

30.

31.

32.

33.

34.

35.

In Haryana the pradhan Mantri Fasal Bhima

Yojana was |aunched on
(A) 10 February 2016
(B) 12 February 2016
(C) 18 February 2016
(D) 16 February 2016

If A ls & matrix of order 3 x 3, then det(3A) =

(A) 3|A (B) 27|A|

(©) %IA\ (D) None of these

A 8 pole induction motor supplled by a
10 pole alternator which is driven at 600 rpm.
If the motor is running at 970 rpm, determine
the percentage slip.

(A) 1% (B) 5%

10/2019 (03,06,09,1 3,15,17,1 9,27,31 ,33&35)

29. mﬁmﬁﬁma‘\mmmgﬁ
HE 7
(A) 10 HTEL 2016
(B) 12 % 2016
(C) 18T 2016
(D) 16 HET 2016

30, TRAFMR3x3 mwwg,ﬁ_

det(3A) =
(A) 3|A| (B)-27 | A|

© 3A o) T &= T

31, TF 6 Y3 NUAR A TH 10 Y mafda &
gt < <t &, 600 oA Sf e
fy s | AR s 970 Tt e e

0 < T &, SR o T
(A) 1% (B) 5%

(C) 2% (D) 3%

Ayodhya Prasad Goyalia introduced
to Urdu Literature.

(A) Sonnet (B) Poem
(C) Shairi (D) Dohe

Rewari a sweet delicacy is famous from
(A) Loor (B) Bangda
(C) Rohtak (D) Kathak

filter attenuates a certain band of
frequencies between two corner frequencies
while allowing all those outside of this
corner.
(A) Low pass (B) Band stop
(C) High pass (D) Band pass
Nature of power factor is determined by

(A)~Voltage current ratio
(B) Position of current with respect to

voltage

(C) 2% (D) 3%

a2 srenTYERE AR S He §
L | '
(R) W (B)
(C) IR - (D) J:

33, o T feH e
(A) T (B) Wl

Sl o s TR ) ekl aan & it
WA TR AT R
(A) ﬁﬂw (B) ﬁ"\;'e"fq
(€) == T (D) ¥z
9 Eﬁmﬁmiﬁﬁmﬁ%

(A)I mﬁ@ﬂm |

C) Series connection of impedance -
(D) Parallel connection of impedance

4

2

o “ i
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1,9,25,49,81,7
(A) 100 (B) 144

(C) 112 (D) 121

37. Diagrammatic representation of an Algorithm
is called as

(A) Pseudo Code
(C) Graphic Chart

36.

(B) Flow Chart
(D) Source Code

The biggest industrial city of Haryana is
(A) Panipat (B) Bhiwani
(C) Faridabad (D) Yamunanagar

38.

cost t 1
2sint t 2t
sint t t

, then lim @ is

39.
t—0 t2

If f(t)=

(A) 0 (B) 3
€ -1 (D) 2
The average power delivered to an
impedance (4 - i3) © by a current
5cos (100xt + 100) A is

(A) 442w (B) 125 W

(C) sow (D) 625W
1 sin 1

41, If A=|-sgind 1 8inB|,0<6s52n,

-1 -sinp 1

then |A| lies in the interval

(A) [0,2] (B) (3.4)

(C) [0,4] (D) [2,4]

42. Consider the following statement/s about
Vice President of India. Choose the right
option given below.

1. He Is an Ex-officio Chairman of the

Rajya Sabha.

2. His term of office Is six years and not
eligible for re-election.

(A) Both 1 and 2 are correct

(B) Only option 1 Is correct

1000 000 0 000 0 0 0 0
3. 1,9.25,49,81,?

@ 06" (B) 144
(C) 112 (Dy 121
37. TEMNYW & MMET TS F_ Fed @ |
(A) FEIHIE (B) el =T
(C) Tfpes =Te (D) WE®E
38. BN F I TS MNfIF TR B
(A) UiTd By fyart ]l
(C) wRmETE (D). IR '
cost t 1 (1)
39. AR f(Y)=|2sint t 2t|%, 7 M52
sint t t
(A) 0 (8) 3
(C) =1 (D) 2

40. T faEd 5cos(100nt + 100) A FRT Teh STeN

(4 - j3) Q! <t STHaTe 3tga il &
(B) 125 W
(D) 62.5W .

(A) 442W
(C) 50w

1 sind 1
HﬁA:[—sinB 1 sinG}.OsBsm
-1 -sin® 1
R, @ |A| fir afee § s d 7
(A) [0,2] (B) (3,4]
(C) [0,4] (D) [2,4]
T & Iref % sy ¥ Pl weet w
it | e g o faerec o - v
1, o8 TR A 9T 2160 B
2. Fw wraerg e U 76 § ol
At el B |
(A) 132w ¥
(B) e firwea 1 Tht 8.
(C) #awt firseq 2 Wt &

a1.

42,

(C) Only option 2 Is correct
(D) None of the above

(D) 3% & & =i 7l
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43. The oldest canal in the State is
(A) Himalayan Blunders
(B) Eastern Yamuna Canal
(C) Electronic Sen sitive Zone

(D) Saraswathi Canal

44. How many agro climatic zones are there in
Haryana ?
(A) 3 (B) 2
(C) 4 (D) 1

45. The value of ¢ in Rolle’s theorem for the
function f(x) = e*sin x, where X € [0, ﬂ] is
& Y ® %74
© Y4 ©) %

46. In word processing title bar contains
(A) Name of the file
(B) Status of the page
(C) Standard operations
(D) Icons

47. In which district of Haryana limestone is
found ?
(A) Ambala (B) Mahendragarh
(C) Rewari (D) Hisar

48. 6:222::7:17
(A) 210 (B). -850
(C) 336 (D) 343

49. Which of the following statement/s given

below |s/are true about Directive Principles
of State Policy (DPSP) ?

(A) Itis Justifiable in nature
(B) Not tundamental In governance of the
country

(C) Both option (A) and (B) are true

10/2019 (03,086,09,13,1 5,17,19,27,31 ,33&35)

(a) femmerht T
(B) Tt FGT T
(C) i daE &
(D) T TE
44. Wﬂﬁ%ﬂﬁ@mm_%?
(A) 3 (B) 2
(C) 4 (©) 1
45. FE f(x) = €7 sin X ¥ fyu @ A H o F
eic| 3 =t xefon] B
A %% ®) %4

© 7 ©) %

a6, =S e ¥ TrgTe W H Bl
(A) HTEA %l AH
®) Y= el
(C) =g ATRIH
(D) emga_‘f:a
a7, eremon i e i 3 = ver Prew e ?
(A) T (B) TS
(©) @ (D) feEw
48. 6:222::7:7
(A) 210 (B) 350
(C) 336 (D) 343

40, Prefifes § @ F-w T & Hify- e
s uiwat? "

(A) T8 ST # =T &

(B) ¥ e # RV Tt &
(©) At frem (A) 2R (B) T §
(D) I & & = T

(D) None of the above
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50. The Mustafabad village is renamed as
(A) Saraswati Nagar (B) Indira Nagar
(C) Sundarban (D) Rajeev Nagar

51. Who was the first Director General of
Archaeological Survey of Indla ?
(A) WiIlliam Johnes
(B) Stafford Cripps
(C) Lord Mountbatten
(D) Alexander Cunningham

§2. A 50 volt AC Is appllied across an RC
(series) network, The rme voltage across
the resistance Is 40 V, then the potential
across the capacitance will be
(A) 10V (B) 40V
(C) 20v (D) 30V

53. Ifthe characteristic equation of the differential
equation d?%/dx? + 2ady/dx + y = 0 has
two equal roots, then the value of « is

(A) =1 (B) £0.5
(€ 0,0 (D) =]
54. Maltoseis a

(A) Trisaccharide

(B) Tetrasaccharide

(C) Monosaccharide

(D) Disaccharide

85. The earliest name of Haryana is found in

origin of the name Aryana is
(A) Atharvaveda (B) Rigveda

(C) Bramhapuran (D) Chahamana

5. Monomer of neoprene is

(A) Chloroprene
(B) Caprolactum
(C) 1, 3-Butadiene
(D) Acrylonitrile

50. WETHMTE TS T A1 AH &
(A) T TR (B) 3T
(C) §T@A (D) T TR

51. T JUAeS WG 1 WUW AR
Lok i
(A) fafermm s
(B) 2%
(C) =té ardzh=
(D) Ry wfam

B2. T RC (") dek ¥ uw 50 dee AC T
Y | wfrdu # rme Feewao v B, W wify
# fiva grm

(A) 10V (B) 40V
(C) 20V (D) 30V
63. IR e AHEROT dRy/dx? + 2ady/dx +y = 0
HNaiPF v S A e §, @ o
A Y
(A) =1 (B) +0.5
© 0.0 (D) =]
54, WIS O 2
(A) ZFdaTTS
(B) TS
(C) WS
(D) eTE&FTTE
55. BRQTOT T QAR ATH ARG 919 % g9
Ty ST R |
(A) *TuEas (B) aT
(C) &g (D) =TEHY
56. e 1 e ©
(A) FARSH
(B) FuATH
(C) 1, 3-SFTETEA
(D) eI
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y. Choose the pair in which the words aré 57. g;iﬁ-fi:m% l

differently related. @) T :ﬂﬁ

(A) Gold : Ornaments & fh‘ﬁ'aﬂﬁﬁq . gl

(B) Earthen pots: Clay ©) T

(C) Cloth: Garments ©) e . GATER

(D) Wood : Furniture & 'ﬂ'ﬂTﬁ |

o _——— &
58. Fuse is always connected I —— of | 58 Y w ,

the clroult. (A) FHER

(A) Perallel (B) e 0 R T8

(B) Nosuch gpecification

(C) Neutral ©) T‘ﬁa

(D) Series (D) *TEe

59. Bywhichofthe following amendmenttothe
Constitution, & list of Fundamental Duties

of citizens were inserted ? (A) 42 3t T
(A) 42" Amendment :
(B) 74" Amendment ) 743?&?{
(C) 44" Amendment - (©) VIRG!
(D) 73" Amendment (D) 739l

60 GUIFT R ®

60. What does GUI stands for ?
(A) Graphical User Instruction
(B)~Graphical User Interface (B) TThehel Eraeas
(C) Ground User Interface 3

(D) General User Instruction
61, T 3 STE Y8 FH-H IR ?

61. Which term comes next in the sequence ?
AC, FH, KM, PR, ?

AC, FH, KM, PR, ?

(A UW (8) TV (A) UW ® TV

C) VW (D) UX (C) VW ©) UX
62. The place where largest industrial centers |  62. Wﬂaﬁ%a'@ o & S sz

of Haryana is located 27 e

(A) Yamunanagar (B) Bhiwani (A) -

(C) Ramnagar (D) Gurugram ©) ng: pad S

. of the following Right ivenbelowis | 63. e o » .! ,

o ngfr?dgment_al Bigh?wh?ch?s guaranteed : oo T qAw mg%%ﬂﬁﬂﬂmm

o o T o

i - | '
(g; Flight to Property- tg) :;E'Imwaq-ﬁqw
(c) Rightto Exploitation (D)) mﬁgﬁmﬁ

(D) None of the above

A1 Y
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64. The Communication protocol used for | g4. '53'@3%@
Internet is IP B) HTTP |
(A) TCP/P (B) HTTP a) TGP/ D) ARPANET |
©) Por2 (D) ARPANET (C) POP2 : e T |
- % I
65. Which was the major reason for the break |  65. Yﬁaﬂaalai 1% s !
:J:)of USSR after cold war period ? HIOTFN AT ! |
Civil war between the diversities of Ryferat
country (A) s d e
((g)) III:rt?.ssure from the outside nations (B) FTed T & T
eligious dominance of th |
e country on ©) wwm@mmﬁgﬁ |

other nations

(D) Excessive Centralisation of power

66. The climate of Haryana is
(A) Continental

(©) Winter (B) Summer

(D) Rain always

g, Na, P,

(A) Be<Na<P<Mg<Si
(B) F’<Si<Be<Mg<Na
(C) Na<Mg<Si<p<pe
(D) Mg<Be<Na<Si<P

68. The Haryana Veterinary Training Institute
was established at Hisar in the year

(A) 2005 (B) 2004

(C) 2001 (D) 2003
69. Galvanometer in potentiometer circut Is

used for the indication of

(A) Callbration of potentiometer

(B) Providing stabllity

(C) Indication of null position

(D) All of the mentioned

70. The maximum demand l.e., sum of

connected (oad to the simultaneous

maximum demand Is expressed through

(A) Demand factor —
(B) Derivative factor~

(D) TIfeR T A FHAF]

66. @A TTAIE. |
(A) wEEdE (8) ¥
©) wd (B) wat

67, i Rrivar s oad g & Frefafea ac
o FAfEd i
Si, Be, Mg, Na, P
(A) Be<Na<P<Mg<Si
(Bf P<Si<Be<Mg<Na
(C) Na<Mg<Si<P<Be
(D) Mg<Be<Na<Si<P
68. fore 3 # gfamom vy Farfereen whteor s
T o wofire formm mmam o 7
(A) 2005 (B) 2004
(C) 2001 (D) 2003

89. WRRMMR wftmy # Hearrdiex
wora & R g d |

(A) TR = ST
(B) wufirea Sqwrey S
(C) vz ol =it vk

Oy st v

it st aun wifte =i & T-Tu R
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HAREDA Is the nodal agency for developing
energy through

(A) Hydel

(B) Nuclear sources

(C) Non-conventional

{D) Coal

passes both the negative and
positive half cycles of the input, while
inverting the negative half of the input.

(A) Zener diode
(B) Full wave rectifier
(C) Half wave rectifier
(D) None of these

What was the main reason for the

development of hill stations in British India ?

(A) These regions were economically
more prosperous

(B) They helped to connect the trade
routes of Europe

(C) They were approximated cold climate
of Europe

(D) All of the above

The District which exports largest amount
of basmati rice

(A) Panipat
(C) Ambala

(B) Sirsa
(D) Karnal

Which of the following rivers are the tributaries
of Brahmaputra ?

(A) Manas, Jia Bhareli, Subansiri

(B) Godavari, Krishna, Aghanashini
(C) Yamuna, Ramganga, Mahananda
(D) None of the above

Acting : Theatre :: Gambling ?
(Ay Casino (B) Gym
(C) Club (D) Bar
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(A) He fajl
ed, n
persavSredfaVer the less he

Af
me(:xh“:vr::? had never seen a lion before

) , .
lightning fIashadtha rain fell and th

i t(D) can't see, for it -is_ very dark.
s n the blanlfs Wwith suitable prepositions.
« The cat Jumped the stool.
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(C) until

(D) therefore
Flll_in the blanks with appropriate word from the
options.

82. |decided to stay at home lastnight. | would

have gone out if | so tired.

83.

(A) wasn't (B) ‘hadn’t been
(C) weren't (D) " wouldn’t been
If | were you, | buy that coat.
(A) won't (B) hadn’t
(C) cant (D) wouldn’t

84. They insisted that we dinner
with them.
(A) can have (B) may have
(C) will have (D) should have

o gaa e |
| e T — g g3
®a Ew@ﬁ
© aqaﬁﬂ‘ﬂa
ge, g il | () & -
(3"') Wall B (@) 'ﬁ'@ﬁa
T o
N Zewe (@) Fe
I
@ 7 7 i -
© % 7 N\ N
@ © ¥ €
w2 36 R S F T
FEd & | -
I (B)
Eg e (D) Fq
g6, ‘) T I FN GEW T T H
Haes &

) S 36 o T e g |

(B) 1 ¥ frTe I W FEE Al
A |

() i 3 B & gt g Y P 3 |

(D) T gL i S e R ER € |

89. ‘TR N T I TR AT

T AR | _
(A) Fgar (B) g MF I
(C) FHaATHA DREE

90, ‘s T TR F AR
(A) TR (B) P

(C) PR T (D) ERRY

A4-




